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MATHEMATICS
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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 4 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

“Question number 1 to 10 carry 1 mark each.”

1. Equation y=2x+3 has :

(a) Unique solution (b) No solution
(c)  Only two solutions (d) Infinitely many solutions
2.  Curved surface area of hemisphere of diameter 2r is :
(a) 2mr? (b)  3mwr? (c) 4mr? (d) 8mr?
3. Out of 35 students participating in a debate 10 are girls. The probability that winner is
a boy is :
1

3 4 5
(@) ®) © - @ -

4. In AABC, AD is median of AABC and BE is median of AABD. If ar(AABE) = 15 cm?
then ar(AABC) is :

A
E

B D C

(a) 60 cm? (b) 50 cm? (c) 40 cm? (d) 30 cm?
5.  Equation of line parallel to x - axis and 2 - Units above the origin is :

(@ x=2 (b) x=-2 () y=2 d) y=-2
6. The number of circles which can pass through three non-collinear points is :

(@) One (b) Two (c) Many (d) None

7.  In quadrilateral ABCD, AP and BP are bisectors of [J A and U B respectively, then the
value of x is :

@) 60° (b) 85° (c) 95° (d) 100°
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10.

11.

12.

13.

14.

If area of |[8™ ABCD is 80 cm? then ar (AADP) is :
A
B

P

o

C
a) 80 cm? (b) 60 cm? (c) 50 cm? (d) 40 cm?

—~

In the given figure the value of x and y is :
s
N\

a) 20° 30° (b)  36°, 60° (c) 15° 30° (d) 25°, 30°

%

\E

—~

In the given figure O is the centre of circle. If JOAB = 30° and U OCB = 40°, then
measure of J AOC is :

B

s >
@

70° (b) 220° (c) 140° (d) 110°

SECTION - B
“Question numbers 11 to 18 carry 2 marks each.”

Three cubes of side 10 cm each are joined end to end to make cuboid. Find the surface
area of resulting solid.

If angles of quadrilateral are in ratio 1 : 2 : 3 : 4. Find measure of all the angles of
quadrilateral.

In given figure OA=0OB=0C Show that
Ox+0Oy= 2(0z+ Ot)

Two opposite angles of a parallelogram are (3x —2)° and (63 —2x)°. Find all the angles
of parallelogram.
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15.

16.

17.

18.

19.

20.

21.

22,

The mean of first 8 observations is 18 and last 8 observations is 20. If the mean of all
15 observations is 19, find the 8th observation.

Give equation of two lines on same plane which are intersecting at point (2, 3).

In given figures ‘I’ is a line intersecting two concentric circles with centre P at points
A, C, D and B show that

AC = DB

OR

Prove that equal chords of a circle subtend equal angles at the centre.

A cone and cylinder are having equal base radius. Find the ratio of the heights of cone
and cylinder if their volume are equal.

SECTION - C

“Question number 19 to 28 carry 3 marks each”.

Draw a graph of linear equation 3x +2y=12.

Construct AABC in which BC=7 cm, 0 ABC = 45° and AB+AC=13 cm.
OR

Construct AXYZ in which Y = 90°,00 Z = 30° and perimeter is 13 cm.

How many meters of 5 m wide cloth will be required to make a conical tent, the radius
of whose base is 3.5 m and height is 12 m.

1500 family with 2 children were selected randomly and the following data was
recorded.

Number of girls in family 2 1 0
Number of family 475 814 211

Compute probability of a family chosen at random having
(a) atmost1 girl
(b) at least 2 girls
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23.

24.

25.

26.

27.

28.

29.

Give geometric representation of 2y +7=0 as an equation
(i) in one, variable

(ii) in two variables

The bisector of [J A of a ||#™ ABCD bisect BC at P. Prove that AD = 2CD

OR

Show that diagonal of square are equal and bisect each other at 90°.

For what value of “a” 12, 14, 15, 27, a+2, a+4, 35, 36, 40, 41 the median of the
following observation arranged in ascending order is 32.

When three coins are tossed simultaneously, find the probability of getting at least two
tails.

ABCD is parallelogram. On diagonal BD are points P and Q such that DP=BQ. Show
that APCQ is a parallelogram.

D C

OR

Show that the bisectors of angles of a parallelogram form a rectangle.

The radius of sphere is 5 cm. If the radius is increased by 20%. Find by how much
percent volume is increased.

SECTION - D

“Question numbers 29 to 34 carry 4 marks each”.

If (2, 3) and (4, 0) lie on the graph of equation ax+by=1. Find value of a and b.
Plot the graph of equation obtained.
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30. Prove that the diagonals of a parallelogram divide it into two congruent triangles.
OR

If X, Y and Z are the mid - points of sides BC, CA and AB of A ABC respectively. Prove
that AZXY is a parallelogram.

31. Water flows at the rate of 5 m per minute through a cylindrical pipe, whose diameter
is 7 cm. How long it will take to fill the conical vessel having base diameter 21 m and
depth 12 m.

32. Ingiven figure, AB is diameter of circle and CD is a chord equal to the radius of circle.
AC and BD when extended intersect at a point E. Prove that U AEB=60°.

33. Draw a histogram of distribution table of the marks scored by 75 students of class IX.

Marks obtained [Number of students
0-10 4
10 -20 8
20 -40 20
40 - 45 10
45 - 60 12
60 - 70 6
70 - 85 15

OR
The runs scored by two teams A and B in 7 overs in a cricket match are given.

Number of ball’s | Team A | Team B
1-6 2 5
7-12 1 6

13-18 8 2
19 -24 9 10
25-30 4 5
31-36 5 6
37 -42 6 3

Represent the data of both the team’s on the same graph by frequency polygon.
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34. If O is the centre of a circle as shown in given figure, then prove that x +y=z

-00o0-
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13.

14.
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34. oTHf H, Al O I9 & % @, @ 19§ FINC fF x+y=2 B

-00o0-
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